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CH3> ATY RAMMERE (ng/152!)
B X1 &+ (pH)
DARE
4.0 5.0 6.0 7.0 8.0
ASI 1158
=hslosoy | 353 61.0 61.0 78.0 55.0
f’&f’f) 373 50.5 85.5 775 80.0
% DAVMEAL BIX Sl E R pH= 7.02
oAl 54
<E4> €M SIHIUHAIC] 0135 R A=(ZRTHHAD
gmoa | 2 =2 NH-N T-N Y
() (%) pH (ppm) (%) CINE | (1g/3.31)
17 64.0 8.4 550 .28 04.39 33.6
22 69.1 8.4 058 .32 20.86 46.6
07 73.0 8.7 205 .54 18.67 45.4
% SIHIAZAl OFRIE|=T|2kS 222 C/NEES 20.80] g
<E5> EDSM UB0|0 4% U =4
=zyg | .S | saeas|sgus | NS | oo | S
(kg/3.3m") (1) (1) (9) (kg/0.7mm)
ASI 1158 | 46.6 34 7 186 | ® A | 310
5&55-) 34.5 35 7 18.3 oy A 282
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